International Olympiad in Informatics 2017

July 28 - August 4, 2017 .
Tehran, Iran prize
Day 2 Tasks Arabic (PSE)
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Questions Score
10000 < ¢ 0 (reported in CMS as 'Wrong Answer')
6000 < ¢ < 10000 70
5000 < ¢ < 6000 80 — (¢ — 5000)/100
q < 5000 80

Sample grader
.S uad Sample grader
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:The sample grader expects input in the following format

n:linel o
p[0] p[1] ... p[n —1]:line2 e

The sample grader prints a single line containing the return value of find best and the
.number of calls to the procedure ask
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